el
]

W GAS RLOW BACK TYVPE -

_._I
-

T
I'-

Ay g T

bl

&
<

i ]
m L™ 1 - -

] . i
"o o - 1 ] r . .
' —F L S T wh wl oo a ] 4 = o =y L Y . k" o L - apm= - a v a " " IH

. L = n - 1 T g e, e, ™ L LT 1.
A T ! L. i ! i-:-ll 2 J‘! 1"‘# " "'p v i I'l ; 'ﬁ-b:i i :[’Aﬂ l " ‘ll.ﬂl d ;":..-': Iil if - Jf* ¥ ' ] P g I_'f':' v v u‘.tn
I o J UL oa L R B ) Ao s L T ST IR

Eall o

Lty CPY

K

RS MR

e L
bl Pt L A

£

T
LT =

e
s Al
- -"_...-,J'.u

- _“1'-'_:.'.-
]

L3

I
T
"

AR I
" ] ,.‘ d I
AN AN A e
) i :"' :"lr;':';;ll..‘ :1‘ “"‘;? "l.:. ": . " :-i I'il r ..-Ir__ ' : ] ] *
1 i IL.. 1; II‘ -“1" 3 ". ' l' i L . 'l. ' '
: VML e T S
L] a ‘:rlll e 2 1l ] n ¥ u
P l'_ :r : - . § ] .,L.,'I I..|.r i ) .
> i e ' . .':‘ “ L :‘\L ' ’
L Th . ) ] R
Y " g W e . * "

PR

.;.:i#"":*-nrr-_'.l. A, & C=j "“:! 5

UCTION MANUAL

"

EE O e, o ¥ .
r " 1 Ly I|I M ]
.I. .I'll".l:'{'l:.}‘:'.‘l-.. c

N Colleclor Edilion

-

mEmmpsm sm — e EE S E S e W omd § om e

=Y T

Sremium Edilion

"--_ —- T S S S U S S e

BT |

ORF Edilion
18 YEARS OR OLDER MADE IN TAIWAN

e

§ = 5= = =

L Lo

e

L EE i =

\.

" TR R el e e - . — i — - —

:FOR AGE

L]

—_—=E LS B amre D i o ol el i el ] i il =

gy = = ok .nd L=

-



] (T " .
1" iy 1 .'i.l'll “ ?.“r:h LI . ! :
& = . [] *
I
s

£l L] r moa & .1-1-‘.1- o ] ol 'hﬁi'ﬂq‘h-ﬂ‘ - —— " ] . .
l .1:1-:, N " ! -:-IF W ey T, " " .
: 3 O - .o
n ’ 1; & a ; :t'.h'l" " i‘_ I I‘r a
o -1 A L | "
" n .. '.I-'d = ::" S e ‘” i s -‘Il-ulgu - "E s
Ll g (e e st e Pl e

ST A R ,. '
it AN O N

HEE

o NES W i
RPTRAERR

HERIRRER

RITIRIE

_

ViVl S

@AEE

s [E




(3) BEE Magazi

51824855 (Shoot Mode)
0 FHRERE] o] 3257 -F 58

L

a ] s d
, l..q"‘I u ""‘ql_...: ."-'-. E
L ! gpiinnl '|.- " 5 - *
| " = W [
L1 {d.. N = I
s L
) SR TN am §

e r"l-_: {lﬁ- =N 'l-l )
T S St e By hlgmt e
=F e mtw - :\b "-. .'" x !"'I.Jr"..l..i l't- I -

RitRat
Safty Mode ;

IR ARE S

-

e
R

== =Fsa .

.

3!
t
i
¥ [
]

R RE T . LTS .

+ s Tk " [

L RN
= » Y e

e»"

2 talm 1

b " 1

56 MMBBEE 42 417 A B BN A 41155 58
Fill 6Gmm 8Bs with loader.

TS
= =)
o
—

A L ER SR hROE A LA A

Fill gas from bottom of magazine.

433 [ A 30 O A 1170 S8 T UGS i XPREEA12kg BT
ABB3E E 3% (R22/Green Gas)
Push lgading rod 6 times to fill around 21

Bbs into the magazine.



- orm e m m—— e i g

1IESEARRS 23] AR

SKUEEARRIS A A, 5 IE A BYURRS S8 R4 T K UEBIRIR IS, B 7S THASS SRR TR IR R
= BRI 24T, ﬂ‘

RI#EE R ERPIR R IIRE a2 98




e
L]
]

- (6) mEkEmARE

F

Ll
Jr

-:- x 'Th * h‘qf.":‘lill:‘“";fi. -.-—I-H#I—II"'

= = .

“&
]

JREA L3S - MEEY S E TR AT B AR RS OB AR - EEBWMERA - B

SRETH)

?ﬂ%ﬁﬁﬂ#ﬁﬁ » BELE B2 EH R SRR - KER BRSThY
AR R ~ whiH



&= LE [E]

EXPLOS 1 ON

W95 N 4133
S <7 6) 135

2

112
%‘,ﬁg 110

:ﬁ 111 105

136

5 12

y152

o

120% 123
121867

«127 W27 ¥ 131

126
@

132

144

141




= KE
EXPLOS | ON

EED T B P |5 LT B B HEGE 2T H B W &
1 |85 1 | 53 | 3K F EERi b+ 1 11053 :Hﬁlxe@fé | 1
2 | HridEe 1 | 54 | EARRBEEER) 1 106 HEF‘EJFJE 1
3 | MStE R 1| 55 | PIN3X18mm 1 107 | 88P93E L 1
4 |RHsH L 1| 56 | 38ARE TR FBOREGH 11108 | #EFE+FM4X8mm 2
| 5 1 EE36 1 |57 ,ﬁ?kla EREpIERE | 1 [109| EBEIFER 1
| 6 | HRbE 1 [ 58 AT EmREERE | 1 [110{BBP9ER 1
7 [IRESEE 1 1 59 Eﬂﬁuhﬁﬁ& 1 111 | BRP SRR 1
8 PREEE: 1 | 60 | ALETEHE 1 112 | BEP R GAEEER R i
9 (| BEERIETT 1 | 61 | A HET TR A AR 3 1113 | &P B4 1
{ 10 | PIN4X28mm 4 | 62 | REnEIEEE 1 [114|M3X10+£ | 2
| 11 [ ES8EREAST 1| B3 | E[ESME 1 1115 | _F & EIE zE ik K
12 | RGBT 1 | 64 | REBEE 1 [116| EEFETERHE 1
13 | M8X25MMERH4 1 | 65 | FiEiZE 1 [117 | PIN2X8mm 1 |
14 | PIN3X15mm 1 | 66 | ®REAS 1 [118]| E& 1 |
15 | PIN4.8X18mm | 1 | 67 |OBVIR3.5X1.5 3 119 FEEEH 1
16 | PIN2X5mm 1 | 68 | PIN2X14mm 38%5HY 1 120 | HEStEEA A 1
17 | FEHE 1 |69 | BBPERFUER 1 121|188t ER 1
18 | JAZERI o |1 170 |[BABREEEER | 1 [122|HiEES 1
19 |TE%E 1 | 71 [ PIN2X10mm 1 |123 | #8E 3450 1
20 | SRR 1 | 72 | {EliEr 1 1124 | % EHHER L
21 | BRRAISESS 1 | 73 | ¥e B E{78h 2 125 | M2.5X3.5mm—F 14
22 | OF518X2 1 | 74 | M5X30mmigik 1 [126 | {E3TEE 1
23 | PIN1.5X14mm 1 | 75 | s[EZRRS 1 127 | 38§t 1
PR RS 1 | 76 | L3838 1 1128 | $E¢15EE - 1
25 [ PIN2X23mm 1 | 77 | BA5H 1 129 BIEgh(2X6.1 1
26 | A EIELR 1 | 78 | Bt 1 130 | ZEGREASRME A 2
27 | M2.5X5F 88 3 | 79 | MAX65mmiRik 2 131 | FT SR 1
28 | HOPUPEH 1 HEMETR S 1 132 | @SB 1
|29 HOPUPREE AL 1 | BERE AR (B B 1 |133 | 3EiEsHEE 1
AER 11 =k | 1 (134 | M2X4[E5E 1
|31 A E635mm 1 BT 1 {135 | BEBREIES 1
| 32 | HOPUP%E &4E 1 M4X 128 I 3 136 M2.5X16RIgE+F 1
33 |HOPUPIR® Sl 1 185 | EZEEPIN 1 |137 | &R 1
34 | HOPUPES 2 1 | 86 | PIN 2X24 2 |138| iR 1
35 | IMEE 1 | 87 | PIN 2X17 1 (139 | 85l 1
36 | M3X3LE {3 %R 2 | 88 | IR 1528 1 [140|IPFEE 14
37 [ M2X10+7F 2 | 89 | HEEM 1 141 | BIEEEWO 11
38 | BhKIE 1 | 90 | BE[BHMEFR 1 142 | BREREAR 1
39 | OIE14X2 1 191 |M2X2.5 3 |143 | BREBIERF£0) 1
40 | B K IE B 1 |92 [2MM#3Ek 1 [144 | B42 1
41 | R 1 | 93 | #BRIRHsRoe s 1 1145 | BEREINIEEAE 1 |
42 | &2 1 | 94 | 045X 1mm 1 [146 | BAEEINRERAE 1
43 | PIN3X10mm 2 |95 .MSXBmm-I'-'JL 1 [147 | BAERINIE 1
44 | I ERAGRE 1 196 _tﬁsa.uﬁﬁza :120mm 1 [148 | BERRINIR g 1
45 | BEnGHE R 1 | 97 [ 5% ,_ 1149 | BARRIN IS BS54 1
46 | PIN3X12mm 2 | 98 |EfEsffctd 1 [150| M3X 12328 4
47 | PIN3X7.5mm 1 | 99 | EHEsHEA | 1 [151| PIN4X39.5; 842 EE R F# | 1
48 | BT SE RS 1 1100} 51281 1 11562 | M3X8FEa+F K
49 | L HR ST B 1 [101 818 1 |153 | ZKEAM2.5X3IRIRIAER 1
50 | FLHFEE 1 1102 | /1R ENE RE 1 154 | MAX4 LE{HE 5 FE 1
51 | Bl s 1 [103 | /8485835 . 2 [155|E$13.5 1
| 52 | RS R 1 1104 | /BiREE 1




B

S

Ma| MBEER12kg Rl
*1 (R22 / Green gas)

BAEFHRRERIERE

1 Caution!
A PRECAUTION
NE PAS UTILISER D'AUTRES

(Never store the Magazine above 40C)

A\ VORSICHT
Ausschiesslich fur diese Pistole bestimmte
Munifton verwenden.(6.0mm Kunststoffikugeln)

wn 23RN R

(Never place it near fire)

@ aa Z) 70 B B il

(Never place it directiy under sunshine)

PROJECTILEE QUE CEUXFOURNIS. (O Fare attenzione

o Yo S PRI dng 175G H 45

[ Be sure to wear shooting glasses or
Goggle when shooting.

A Toujours porter des lunettes de tir ou de protection
quand vous tirez.

A\ Zum Schiessen stets eine Schutzbrille iragen.

B Asegurese de llevar puestas las gafas de proteccion

cuando dispare.

(O Assicurarsi di indossare lenti di Protezione guando
S| spara ‘

1P SO 04
INEZFRAS R 1 B )
[ Put the gun beyond the reach of kids.

A Tenir hors de poriee des enfants.
A\ Pistole immer kindersicher aufbewahren.
B Ponga la pistola fuera del alcance de los ninos.

(O Tenere fuori Dalla portata dei bambini.

W AT ATHRE BT
[] Don't peep at the muzzle.
A Ne jamais regarder

dans le canon.
2\ Nie in den lauf schauen.

B Jamas mire por €l canon
() Nen guardare mai dentro la canna.

1—-‘:{'_'-"“

s FERIOMRRT - F AT LA P ES
BT iR BE B

[] Con't touch the trigger until the
moment of shooting.

A Ne jamais appuvyer sur la gachette le rearmement.

A\ Abzug erst dann berubren,wenn Sie  zum Schiessen

bereit sind.

B No toque el gatilio hasta el momento del disparo.

{O Non toccare il grilletto fino al momento di sparare.

K BEGIRAIN(E »
WA fE R

[] Aveid a rough operation.

A Ne jamais jeter le pistolet

quand il est arme. =N
A Geladene Waffe stets mit Respekt

Behand!in. Nicht werfen oder unsanft Jandhaben.

B No tire ni lance la pistola, se puede disparar.
(O Evitare azioni brusche.

K A TTHI A
[J Don't aim at people even if it is unloaded.
A Ne jamais viser quelgu'un meme si votre
pistalet est vide.
A\ Auch bei spiel-und Sportwaffen besteht
Verletzungsgefahr. Auch ungeladen nie
auf einen Menschen oder ein Tier richten!
W No apunte a personas, incluso descargado.

(O Non puntare mai verso le persone anche se la pistola
scarica.

] After making sure that there is nobody nearby.
A Toujours efre sur qu'il n y a personne dans
la trajectoire de votre tir.

7 Vergewissern Sie sich vor dem Schiessen stets,
dass niemand getroffen werden kann.

B Antes de apuntar aseguese que no hay nadie cerca.

(O Assicurarsi semper che non ¢i sia nessuno sulla
tratettoria di tiro.

Do S i Lo CHE LY, M VN [ N i
[[] When the gun is not in use, remove
the magazine and unload BB pellets.
A Quand vous ne I'utilisez plus,bien
Faire attention de retirer le chargeur

et de le desarmer.

o
A Zum Aufbewahren Magazin entfernen und 636™
Kugein herausnehmen.

B Cuando no se este utilzando la pistola, saque
todas las bolas.

(O Quando I'arma non e in uso, estrarre il caricatore
e scaricare | pallini.

Wb ZE 4 R 28 AR T SRR e SR e R A Rah b A F R AR LT EFA.

[[] Miss handle the airsoft gun may condition serious injure or deatn. Please read the safety instruction before use.




	Página 1
	Página 2
	Página 3
	Página 4
	Página 5
	Página 6
	Página 7
	Página 8

